040712






19114 H. H. Di xon

3.7
T
r
AP _—
surfoce fenslon
APx A=T x2nar
APxar? =T x 22t
ap=2L
r
T d L
( ) R



a ( )

A=Lxd
d =2R-2Rcosa

F=APxA

AP=Pa_Pin

AP x A= 2T cosal

G)COSOtzl—i
2R
d
APLd = 2TL(1-—)
2R
:>AP=£—I
d R
R
ro_d
R+r 2R
dr
=\ ... 1
2r —d @
(1)
ap AT LT
d R 2 R
20cm

30xi0cm




83¢g

20 ¢

25 ml

37. 4

125ml

N/ m

(cmH2O0) 5 14| 21 B0 |37 3 |46
Ccmp B |55 2.l00] 1./85/ 1.|60|1.[40]1
(em |3 PO 199l 2./30] 1.|95|1./63|1.[44]|1

51

.30 1.

132 1.



(cm)

(gw/cmz)

.
.
* o
* e,
10 20 30 40 50 60
(gwlcn)
10 20 30 40 50 60
(gw/cm?)
10 %
>
£ 2 £ 3 v
3
6
. A
0 10 20 30 40 50 60

70

70

70



Thermopsi s montana

AP =2TTAHMR d
)

Ther mopsi s mont ana

5 prd d
2 . [@n8
731N/ m
ap=2t_T
d R

-3 -3
_2x73x10° _ 73x10° =3-93><104('V 2)
2.78x10 5.5x10 m

(5 )



3~4m

0. 5m
apo 2 T _1.2T,
d R 2

3~4m

Lincoln Taizeahdl&diarBlbadeg®8mysi Clmmpiyngg hie
Company, l nc. po91



0.1 0. 5Mpa
16

25um 0. 6 200pum
0. 08 100
0O.15um






